Volume assignment 1:

1. The grid is a 1-cm grid.  The net folds perfectly (so side lengths match, and there are no gaps).  Find the volume enclosed by the polyhedron made from this net:
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[image: image1.emf]2. This polyhedron has a lot of right angles (I have marked as many as I can without making it more confusing).  In particular, all of the faces that look like parallelograms are rectangles.  Find its volume:
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3.  This is a pyramid like the Egyptian pyramids: it has a square base, and its apex is directly over the center of the base.  Walking along one side of the base, the length is x = 20’.  It’s slant height, as measured straight up the center of one triangular side is l = 14’.  What is its volume? 
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4. Explain why the area of this triangle is 
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